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) - In a turbulent environment, successful organizations use .... Structures.

a) Fixed b) inking — pin c) Mechanistic \d) organic

Y- Which alternative is not include in max weber’s principle of

bureaucracy.
a) division of labor \b) employee’s salary system
c) Impersonality o relationships d) specialization

Y- The total knowledge, values, beliefs, customs, and lifestyles contained
within a country or segment of a country.

Va) culture b) domestic value c) social mobility d) tradition

Y- The established pattern of relationships among the components of the
organization is called.....

a) chart b) complexity C) process \d) structure



(A L is the process by which one person follows another’s advice,
suggestion or order.

a) Authority \b) Influence c) Force d) Power

£- which of the following is performed for allocating pay increases?

a) feedback control b) feed for wad controls

\c) performance evaluation d) motivational measurement

V- supervisors in an organization are ...... managers.

a) staff b) top level c) Middle \d) First — Line

A- A part owner of a business firm.

a) wholesaler \b) shareholder c) retailer d) dealer

q- this role of mangers includes hiring, training, evaluating, motivating,
rewarding, and promoting.

a) disseminator b) leader c) liason \d) Resource Allocator
\ «-the bureaucratic organization needs a/an ......

Ja) Flexible hierarchy and fixed rules b) Authority based on expertise

c) Very few rules and regulations d) Well defined management hierarchy
1 Y- McClelland'’s socially acquired needs include the need for......

a) Esteem b) Existence c) Growth \d) Power

1\ Y- A job enrichmentprogram can......

Va) enhance worker autonomy b) increase job rotation

c) restrict worker authority d) restrict worker responsibility

1 Y- which management function focuses on required activities and
expected results?

a) control b) organizing \'c) planning d) reporting

\ ¥- with holding centain amount of an employee’s pay when he or she is
late for work is a good example of .......

a) Sanction \b) Negative reinforcement



c) Discouragement d) Avoidance learning
) 0- Activities direcrsd at helping the group to achieve its goals is called....

a) emergent interaction b) required objectives

c) required activities \d) task accomplishment activities

\ £- An inroluntary termination of employment initiated by the employer.
a) Displacement b) Discharge c) Resignation d) Retirment
\V-....... Is the process that managers use to transfer authority and
responsibility to employees at lower level.

a) Centralization b) Communication \/c) Delegation d) Formalization

Y A- The control process......

a) is disfunctional
b) is always negative
c) is unique to manufacturing firms

\d) focuses on required activities and expected results
\ Q- It refers to the capability of the system as a total system to accomplish

more than any of its subsystems.
a) Suprasystem \b) Synergism c) Functionalism d) Diagnostic function

Y +- The extent to which a manager can use “the right of command” to

control other people.

a) coercive power \b) legitimate power c) reward power d) referent power
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